Online Chapter 9, Appendix K: Difference of Means Tests for Reason for Not Voting — Do
Not Care

What was the biggest reason you did not vote? 1 =1 just did not care. 0 = all other

responses
Group Standard 95% Confidence Interval
Mean Error

Non-Millennial 0.136 0.033 0.072 0.201

Millennial 0.152 0.024 0.104 0.200

Wald Test  Non-Millennial = Millennial
F(1,326)=0.15
Prob>F =0.701
N =327
Note: Means test run on estimate sample, given survey weights for Millennial and
non-Millennial to correct for the oversample of Millennials. Data is 2016 survey.




